MEEG 3013 Quiz #7.m18.082

O, = % (ox +oy) + % (o, —0,) C0s20 + 7,,SIN 20

Ty = —% (o,—oy)sin20 + 7,,c0s 26
For the state of stress as shown, L 20 ksi
make use of the above formulas e
to determine (a) the orientation 4 sl
@, of the planes of maximum 4} ‘lﬁ
In-plane shearing stress, (b) the —F > 6 ksi

corresponding normal stress o . Y

oy=—4ksi © gy=-6ksi ©®© o¢,=20ksi @
dd_H(TX'V') = —(ox —0y) c0s20 — 274,SIN20 =0

GX - Gy
2 Txy

20, = —63.435° or 116.565° 6, =—-31.717° or 58.283°
6.=-31.7° ©® or 6 =583 O©

. tan26, = - =-2 ©

o=0,= % (o +oy) + % (0x—0,) C0S20; + 7,,SIN26, =8

o=8ksi ®



